( 2022-2024 t 2020-2022 F5E) (S ié M) LMy ey
ECONOMICS (-2 1) Jscher) - 224 oSaluS|
Q.Papes : Il (Objective Type) PAPER CODE = 8111 CAS7 I« gy
Time Allowed : 30 Minutes o 30 @ =
Maximum Marks : 20 20: /"u{

LN ne u‘-”.u:f'béfé.)'d. lzf.dfr/:{[élﬂ}b? -U}?fé.:D » C'BA ailﬂkaédlrﬁ Y

_fﬂjrz’,&li._.zlﬁuﬁuf.:«u‘tji.& Fox L'L/qu;ﬁbnpa.ug _gl‘:};pfgfgi.fo}l)w&lbf

Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one is not the autonomous investment : : a‘:_u:'.‘;d,r{,l./zﬁb:;d;(dt/dufa.JJ-SE» 1_1
Construction of dam : /:,‘:)Jrfi (B) Construction of roads ,C?JLJ!(}’ (A)
Expenditure on goods and services f‘;f.;.‘:«l.ﬁ»?l (D) Construction of hospitals (’?Ku:’l?;’f (C)

Marginal propensity to consume is : g ‘Lb'ﬂhj/"df;&"f‘? 2

Change in saving;éﬁ; foz. (B) _Consumption i’ (A)
Consumption i Saving =7
Consumption =22 (D) Change in consumption Mgﬁ (C)
Income GAT Change in income L{gu:&ﬂ
Which one is nct the kind of cheque : e @?{,{b{_:g Z]
Order cheque bgd'; (B) Bearer cheque éd’ip (A)
Bank draft &35 (D) Crossed cheque —Zs2i (C)
Which one is not the function of money : : q_u.“’;,kl.‘;%gfjijoéﬂvufaf JLits |4
Common measure of valué J}ng—f(}? (B) Medium of exchange b7 (A)
Determination Interest rate c}-‘-;’b/,u’c/"" (D) Transfer of value L,‘_(};dl.‘ﬁ?! (C)

On which kind of deposits, commercialdanks do not pay interest or : Z.../u’.’.ﬁ:iﬁ vaq&’tidk’f.@d;if 5
profit :

Saving deposits LJE;LI;‘.‘.‘J_; (B) Time deposits - WSsker (A)
Fixed deposits L,f’.LL:,{-“ (D) Demand deposits u_:’l.idg’ (C)
Which onefi§mot the function of‘CI,;e‘h_tr.’éT Bank among L e SRJCAESL .@d}f/bg')}_.p'fdibu 6
followingsy: é ;;"
7 b, * Issuance of currency notes i:/d;k;..b:’ (A)

" ~To earn profit LU gL (B)

Re-discounting of bill of exchange t62, ul'.»,;u;fi‘/; (C)

-~ - Controller of money market (gi:&rjﬂjl_. (D)

Among the followings, according to which : é;'b)/lﬂ.,)’g&f WL&%‘JLJ@%JLJ&"IJ’;—. ufJ_5C‘z/~‘ 7
] = -
principle every person pays the tax according to his financial capacity :

Canon of equality =t~ (B)- Canon of certainty J-’-Uy"f (A)
Canon of elasticity dﬂ,ugdy‘“ (D) Canon of simplicity J;lxdr‘l (C)

Ratio of indirect taxes revenue in the tax : 4‘:,‘_./&7(04.I’dlsi-ﬁflac..Urgblﬂyufd.sfdﬂy‘;ﬁc)l‘)@ 8
revenue of Pakistan is :

44 56.60 % (D) 4 40.8 % (C) 4 19.2% (B) 245 70.0 % (A)
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Mobility of goods and services within the boundary of a country is called : :‘C-JMJXFJJ&LﬁﬁﬁglJ}’LJ 9-1
Domestic trade ..:.«ztf"l?: (B) International trade =/ U (A)
National trade —"-'J.V”d; (D) Regional trade ..-:ul{”Jl?Ui (C)

In balance of trade includes : 3 quleiu.‘m_v"ujl? 10
Trade of only visible goods &JE&:?IJ/J/’ (B) Trade of only invisible goods .:ulf«ff”lr"'"(j//zéu.}/ (A)
Trade of services ..".ul;’J;vLﬁ (D) Visible and invisible goods ;?16//:53!6/ (C)

Share of agriculture sector in the gross domestic product of Pakistanis : - q_,ﬁ(dwdﬂslﬁ.f(GJub"!; 1

445 27.0% (D) +4 19.2 % (C) +4 48.2 % (B) 44352 % (A)
Which is not the cause of low 'per capita income in Pakistan : d ;.uf’,m&_. nlf(}x TJ((}L)‘IUL"/}; 12
Dependence on agriculture » Li.l.; =L (B)  Scarcity of natural resources .:J;d/ J /{/: JJ.E (A)
Developed industry .;,13“’:5&(}-/" (D)  Shortage of capital If’d/é...l./ (C)
Economic development means : : .T_.J!/:..(}”?L;bﬂ 13
Increase in agricultural income J&iuff(},efd:} (B) Increase in national ineome ,SLH‘_}.'.'L‘}M’J; (A)
Increase in real national income 3204 TS 33 (D)  Increase it employment SLi4, (C)
Which one is not the cause of industrial backwardness : E q.uf:g:p(dfx V:’J,v"@/ 14
Lack of capital d/&,tf (B) Shortage of minerals JL,..:.QM (A)
Fragmentation of lands J’ LS (D) Low quality of products sz by (C)
Share of work force in total population of Pakistan(is): : q_@;d:l/'iufd:éfﬁfuw/& 15
4218% (D) «261.0% (C) 3 323% (B) +£41.0% (A)
What is the length of Islamabadto Peshawar motorway (M-1) : : :‘_.SUJ(M-‘I);;.J):’J:QU:H(W! 16
28 170 D) W4 F 154 km (C) #F160km (B) £ 130 km (A)
How much % share ofdeposits of E ‘L%gﬁ”ugg,luﬁ.:ﬂmfﬁh;ﬂﬂéz"fKu,%&)gw’g_sT..@a% 17
Schedule Banks/is kept as cash reserve by the State Bank of Pakistan :
%4 5% (D) +410% (C) 15 % (B) £ 20% (A)
Which one is the most expensive head in the expenditure of Central : q.o:‘l‘},ﬁﬂ/(uhd/&tgfﬂé..vﬁd}(/ 18
Government : .
Administration JJ:H;J (B)  Payment of interest ﬁbl 1w (A)
Defence L (D) Economic services A5 (C)
Pakistan imports : : c‘_t’/';fj)dl?(_l; 19
Textile products = k541 Jll’/g (B) Rice J:?iw (A)
Petroleum products .::.-tn’""(-f;/'; (D) Sports goods ULVKU:E{ (C)
Which one is the alternate of interest free banking : ; ./"_.d)';- K 6 Sar |20
Tax ug (B) Musharika and mudaraba ;.c)bl‘::fﬁ; (A)
Consumption of wealthe/noi” (D) Payment of services eyl (C)
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( PART-1 Jjl )
16 2. Write short answers to any Eight (8) questions : ; é’aLiﬁ/ﬁL@Ufr (8) A J)/ -2
(i) Define national income. -’&G_g/""[fd; $? ()
(i) Describe personal income. ?.:-_;i/l[c_.d.e T3 (ii)
(iii) How can avoid double count on the ?.;.Cﬁtggcj.';.a‘%ﬁmﬂfg,& S TS5 (i)
measurement of national income?
(iv) State equilibrium of national income. ?q.:ylgrc_(f/uﬂ?gfaﬂ’d} (iv)
(V) What is meant by barter system? ?‘:'_:’/k(:..b?cw s (V)
(vi) Define demand for money. ?Q.JI/Q;_'-JJJJ (vi)
(vii) Write Fisher's equation of exchange. Q&UJJ?QI:PJ/‘.’ (vii)
(viii) Write about speculative demand for money. -é_{fbﬁ;x[‘.ﬁ&gﬁ:‘? JJ} (viii)
(ix) What is demand deposits? "’u_{%’:éi.w/ow (ix)
(x) What is meant by credit creation? ‘-‘q_.:l/'t_“::;. &:@'&gﬂw (x)
(xi) Write bank rate policy of central bafk, -é{fﬂ&ébf&.@d)} (xi)

(xii) What do you know aboutmarginal requirement of ?L,gztggf..; Tufc.zl,cf_?":qfw% QF (xii)
commercial banks?

16 3. Write short answers,to'any Eight (8) questions : : é:.;l:‘!/‘ézaﬂlr (8) Fle J:( =3
(i) Write the name of canon of taxation proposed by -é’i”rt.ﬁ u:’:‘iziurgu/zfd: E“(JT (i)
Adam Seith:
(i) VWiahis algood tax? ?{_mgwg WiLh (i)
(iii), Whats progressive tax? sl S i)
(iv)”Write the name of three kinds of public finance. -éftcﬁ(ﬁlﬁcﬁ&aywﬁ/ (iv)
(v) What is multi-national corporation? ?u.?%’.((‘_/ {}2}%’3‘{ § !/-.'fr (v)

(vi) Explain classical theory of international -&auﬁ;#’gfcp u,J,/ﬁ@},ﬁmtfun}uw (vi)

trade in three lines.

(vii) What is labour intensive technique? ‘e t’:‘s’g&l&;_‘é/’:ﬁh‘ai? (vii)
(viii) Define balance of trade in three lines. B Yt LS N LN (Vi)
(ix) Write the name of four important industries of Pakistan. —éftLUWﬁU&JULJ& (ix)

(X) Explain the importance of education sector in _é‘uydlﬁﬁ__‘b:&i&.ﬁif?yﬂuiﬂl (x)
e Pakistan in four lines.
(&0
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3. (xi) What tax culture is in Pakistan? Write in four lines. -’&Gu:;#?‘_tg ("LL'..J/Z-{J"CJUWI; (xi)

(xii) Give two suggestions to reduce poverty in Pakistan. _’é::_pl_;’»gi. Laf_cf/uful'?@ (xii)

18 4. Write short answers to any Nine (9) questions : : é@klﬁfyﬁwﬂir 9) 4 e LL(
(i) Write the definition of Meier and Baldwin about _a‘f_.@}bf;.gﬁw,;/ung:ﬂg;al}L (i)
economics.
- 5 : i b ey - =
(i) Write down three factors of economic development. B UML)

(iii) Give your four suggestions for the solution of _&:Z:GJQLE:P@,L/JJVG"‘Z ulﬂl (iii)
industrial problems of Pakistan.

(iv) Compare unemployment and under employment. _.é&)'!’(d}giyé.f:ﬂfdjfjué. (iv)
(v) What is meant b'y labour force? ‘e el = AT (V)
(vi) Write a short introduction of National Bank of -fé{fd:@ﬁ(@ﬂ&d T..ﬁuguﬁ (vi)

Pakistan.
(vii) What is meant by money market? ?‘L:I/lfc.;) L (vii)

(viii) Write two sources of revenues of provincial ..&Uu,» f‘éb}»é: u?ﬁd/gr‘d,ut“/’/!; (viii)

governments of Pakistan.
(ix) Point out four recipients of zakat. -éw;ﬁJﬁg&s}G (ix)
(x) Write four major exports of Pakistan. _’&F.:.u T/.'/;’J?J{;}LJ_E (x)
(xi) Point out four causes of -'édu‘f'(!&yﬁﬁngQ’jtﬂUJ';Z'Ug”FJUL’@ (xi)
unfavourable balance of payments of Pakistan:
(xii) Why did Islam prohibit interéSt2. sl Jusd Il (xii)
(xiii) State in your own words_the economic _éugufi:w!??.!:,l;'uéb»i (_f,]d:‘" (xiii)

impacts of the glimination of wasteful consumption.

( PART-1I (13 = )

Note : Attemptany THREE questions. _éj..:,pz.ﬁ_-.,mydf:.df Py

10 5. Explain quantity theory of money. -é..v UJU(J}JIAE’:/};

10 6. Write’instruments of credit money in detail. ..é;f}'lwé gkf{':. YT LA

10 7. Elaborate advantages and disadvantages of international -a,{uy.:,cuﬁ»u’r}’é e FS I
trade.

10 8. Describe the causes of inflation in Pakistan. = ;_;i‘_\,.:.._.,lffi.:}i,l/:’fj dt‘f_&

10 9. Describe the characteristics of Islamic economic system. -Z‘:ﬂu.l_f..:ifr“;ufl’l&igbwaf.(wl
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